Match. Not all choices are used. You may need to simplify your answer.

F(x) =% +7 g(x)=x—3 h(x):X:N
L 1 f(x)+g(x)=x2+7+/x-3
M _ _ (42 _ X 2
2 hg=f)= 7 =0T !
13 g(f(x)=g(¢+7)=(x' +7) -3 =x' +4
C_ 4 f(g(x)=f(Vx—3)=(Vx—3) +7=x-3+7=x+4
B & f(x)g(x)=(x*+7)Vx—-3
X
G . h(x)g( ):X+17\/x—3
H ogx) X—3
" (800)= g(x)+17  /x—3+17
N 9(¥) v 1 X417 (x+17)Wx=3
5 h()()—g(x) h(x) X3 X X
F o X B X _
> ul >>_g[x+17]_\/x+17 3
E 10 g(g(x)):g( x—S): x—3-3
A. X* +7+/x—3 H. _NX—3
B. (x2+7) x—3 \/x2—3+17
C. x+4 ! X" +4
D. x+2 5 (x+17)vx—3
E. x—3-3 X
X 2
- x:17_ v
L. X2+ 74+~/x—3
XVx—3 M. None of these listed

Rev08-10

X+17



